## Article

# Some Relations of Two Type 2 Polynomials and Discrete Harmonic Numbers and Polynomials 

Taekyun Kim ${ }^{1,2, *}$ and Dae San Kim ${ }^{3, *}$ ©<br>1 School of Sciences, Xian Technological University, Xi'an 710021, China<br>2 Department of Mathematics, Kwangwoon University, Seoul 139-701, Korea<br>3 Department of Mathematics, Sogang University, Seoul 121-742, Korea<br>* Correspondence: tkkim@kw.ac.kr (T.K.); dskim@sogang.ac.kr (D.S.K.)

Received: 25 April 2020; Accepted: 18 May 2020; Published: 1 June 2020


#### Abstract

Harmonic numbers appear, for example, in many expressions involving Riemann zeta functions. Here, among other things, we introduce and study discrete versions of those numbers, namely the discrete harmonic numbers. The aim of this paper is twofold. The first is to find several relations between the Type 2 higher-order degenerate Euler polynomials and the Type 2 high-order Changhee polynomials in connection with the degenerate Stirling numbers of both kinds and Jindalrae-Stirling numbers of both kinds. The second is to define the discrete harmonic numbers and some related polynomials and numbers, and to derive their explicit expressions and an identity.


Keywords: degenerate Stirling number of the first kind; degenerate Stirling number of the second kind; Jindalrae-Stirling number of the first kind; Jindalrae-Stirling number of the second kind; Type 2 degenerate Euler polunomial; Type 2 Changhee polynomial; degenerate harmonic number; degenerate harmonic polynomial; generalized degenerate harmonic number

MSC: 11B73; 11B83; 05A19

## 1. Introduction

The degenerate Bernoulli and degenerate Euler polynomials were studied by Carlitz [1], as degenerate versions of the usual Bernoulli and Euler polynomials with their arithmetic and combinatorial interest. The present authors and their colleagues have considered various degenerate versions of certain special numbers and polynomials and have discovered many properties of them. To name a few, these include degenerate Bernoulli numbers of the second kind, degenerate Bell numbers and polynomials, degenerate central Bell numbers and polynomials, degenerate complete Bell polynomials and numbers, degenerate Stirling numbers of the first and second kinds, degenerate central factorial numbers of the second kind, degenerate Cauchy numbers, and degenerate Bernstein polynomials (see [2-16]). They have been explored by means of different methods such as generating functions, umbral calculus, combinatorial methods, differential equations, probability theory, $p$-adic integrals, $p$-adic $q$-integrals and special functions.

The harmonic numbers $H_{n}=\sum_{k=1}^{n} \frac{1}{k}$ and their various generalizations appear in diverse areas such as various branches of number theory, analysis of algorithms in computer science, elementary particle physics, and theoretical physics. The novelty of the present paper is the introduction of degenerate versions of harmonic numbers, called the degenerate harmonic numbers given by $H_{n, \lambda}=\sum_{k=1}^{n} \frac{(1-\lambda)(2-\lambda) \cdots(k-1-\lambda)}{k!}$, and some related polynomials and numbers. The motivation for this definition is natural and simple. Indeed, it follows when we replace the usual logarithm function by the degenerate logarithm function (see Equation (6)) in the generating function of the harmonic numbers (compare Equations (8) and (29)). Three possible applications of our results in other branches
of mathematics are outlined in Section 4 with typical examples. We hope that those new numbers will have applications in other areas besides mathematics.

The aim of this paper is twofold. The first is to find several relations between the Type 2 higher-order degenerate Euler polynomials and the Type 2 high-order Changhee polynomials in connection with the degenerate Stirling numbers of both kinds and Jindalrae-Stirling numbers of both kinds. We note here that we use the orthogonality relations of the degenerate Stirling numbers in order to derive several corollaries from the obtained theorems. The second is to introduce the discrete harmonic numbers and the related polynomials and numbers, namely the higher-order degenerate harmonic polynomials and the generalized degenerate harmonic numbers, and to derive their explicit expressions and an identity. We outline the three possible applications of the degenerate harmonic numbers in Section 4.

The outline of this paper is as follows. In Section 1, we go over the stuffs that are necessary throughout paper. These include the discrete exponential functions, the discrete Stirling numbers of both kinds, the discrete logarithm function, the harmonic numbers and their generating function, the degenerate Bell polynomials, Jindalrae-Stirling numbers of both kinds, the Type 2 higher-order degenerate Euler polynomials, and the Type 2 higher-order Changhee polynomials. In Section 2, we show the orthogonality relations for the degenerate Stirling numbers from which the inversion theorem is derived. Then, we prove relations between the Type 2 degenerate Euler polynomials of order $r$ and the Type 2 Changhee polynomials of order $r$ in connection with the degenerate Stirling numbers of both kinds and the Jindalrae-Stirling numbers of both kinds. In addition, we derive a recurrence relation for the Type 2 higher-order degenerate Euler polynomials. In Section 3, we introduce the discrete harmonic numbers. Then, as a natural generalization of these numbers, we introduce the higher-order degenerate harmonic polynomials and an explicit expression for those polynomials. Finally, we introduce the generalized degenerate harmonic numbers and find an identity relating these numbers, the Type 2 higher-order Changhee polynomials, and the degenerate Stirling numbers of the first kind.

For $0 \neq \lambda \in \mathbb{R}$, the degenerate exponential functions are defined by (see $[10,13]$ ),

$$
\begin{equation*}
e_{\lambda}^{x}(t)=(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty}(x)_{n, \lambda} \frac{t^{n}}{n!}, \quad e_{\lambda}(t)=e_{\lambda}^{1}(t), \tag{1}
\end{equation*}
$$

where $(x)_{0, \lambda}=1,(x)_{n, \lambda}=x(x-\lambda) \cdots(x-(n-1) \lambda),(n \geq 1)$.
Note that $\lim _{\lambda \rightarrow 0} e_{\lambda}^{x}(t)=e^{x t}$. It is well known that the Stirling numbers of first kind are defined by (see [1-25])

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1}(n, l) x^{l}, \quad(n \geq 0) \tag{2}
\end{equation*}
$$

where $(x)_{0}=1,(x)_{n}=x(x-1) \cdots(x-n+1),(n \geq 1)$.
The unsigned Stirling number of the first kind $\left|S_{1}(n, l)\right|=(-1)^{n-l} S_{1}(n, l)$ counts the number of permutations of $n$ elements with $l$ disjoint cycles. As an inversion formula of Equation (2), the Stirling numbers of the second kind are defined by (see [8,10,13,14,17,19-21])

$$
\begin{equation*}
x^{n}=\sum_{l=0}^{n} S_{2}(n, l)(x)_{l}, \quad(n \geq 0) \tag{3}
\end{equation*}
$$

The Stirling number of the second kind $S_{2}(n, l)$ counts the number of ways to partition a set of $n$ distinct elements into $l$ nonempty subsets. As degenerate versions of Equations (2) and (3), the degenerate Stirling numbers of the first kind are given by (see [14])

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1, \lambda}(n, l)(x)_{l, \lambda,}(n \geq 0) \tag{4}
\end{equation*}
$$

and the degenerate Stirling numbers of the second kind are defined by (see [8])

$$
\begin{equation*}
(x)_{n, \lambda}=\sum_{l=0}^{n} S_{2, \lambda}(n, l)(x)_{l}, \quad(n \geq 0) \tag{5}
\end{equation*}
$$

Let $\log _{\lambda}(t)$ be the compositional inverse of $e_{\lambda}^{x}(t)$, called the discrete logarithm function, such that $\log _{\lambda}\left(e_{\lambda}(t)\right)=e_{\lambda}\left(\log _{\lambda}(t)\right)=t$. Then, we have (see [14])

$$
\begin{equation*}
\log _{\lambda}(1+t)=\frac{1}{\lambda}\left((1+t)^{\lambda}-1\right)=\sum_{n=1}^{\infty} \lambda^{n-1}(1)_{n, 1 / \lambda} \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

The harmonic numbers are defined as (see [17,19,25])

$$
\begin{equation*}
H_{0}=1, \quad H_{n}=1+\frac{1}{2}+\frac{1}{3}+\cdots+\frac{1}{n}, \quad(n \geq 1) \tag{7}
\end{equation*}
$$

We note that the generating function of the harmonic numbers are given by (see [17,19,25])

$$
\begin{equation*}
\frac{-\log (1-t)}{1-t}=\sum_{n=1}^{\infty} H_{n} t^{n} \tag{8}
\end{equation*}
$$

In [10], the degenerate Bell polynomials are defined by

$$
\begin{equation*}
e_{\lambda}^{x}\left(e_{\lambda}(t)-1\right)=\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

when $x=1, B_{n, \lambda}=B_{n, \lambda}(1)$ are called the degenerate Bell numbers. By taking $\lambda \rightarrow 0$, we see that $B_{n}(x)=\lim _{\lambda \rightarrow 0} B_{n, \lambda}(x)$ are the Bell polynomials given by $e^{x\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}$. The Bell number $B_{n}=B_{n}(1)$ counts the number of different ways to partition a set of $n$ distinct elements. From Equations (4) and (5), we can derive the generating functions of the degenerate Stirling numbers of both kinds which are given by (see [8])

$$
\begin{equation*}
\frac{1}{k!}\left(e_{\lambda}(t)-1\right)^{k}=\sum_{n=k}^{\infty} S_{2, \lambda}(n, k) \frac{t^{n}}{n!} \tag{10}
\end{equation*}
$$

and (see [8])

$$
\begin{equation*}
\frac{1}{k!}\left(\log _{\lambda}(1+t)\right)^{k}=\sum_{n=k}^{\infty} S_{1, \lambda}(n, k) \frac{t^{n}}{n!} \prime^{\prime} \tag{11}
\end{equation*}
$$

where $k$ is a nonnegative integer.
In [21], the Jindalrae-Stirling numbers of the first kind are defined by

$$
\begin{equation*}
\frac{1}{k!}\left(\log _{\lambda}\left(1+\log _{\lambda}(1+t)\right)\right)^{k}=\sum_{n=k}^{\infty} S_{J, \lambda}^{(1)}(n, k) \frac{t^{n}}{n!} \tag{12}
\end{equation*}
$$

As an inversion formula of Equation (12), the Jindalrae-Stirling numbers of the second kind are given by (see [21])

$$
\begin{equation*}
\frac{1}{k!}\left(e_{\lambda}\left(e_{\lambda}(t)-1\right)-1\right)^{k}=\sum_{n=k}^{\infty} S_{J, \lambda}^{(2)}(n, k) \frac{t^{n}}{n!} \tag{13}
\end{equation*}
$$

Carlitz considered the degenerate Euler polynomials of order $r$ which are given by (see [1])

$$
\begin{equation*}
\left(\frac{2}{e_{\lambda}(t)+1}\right)^{r} e_{\lambda}^{x}(t)=\sum_{n=0}^{\infty} E_{n, \lambda}^{(r)}(x) \frac{t^{n}}{n!}, \tag{14}
\end{equation*}
$$

In particular, for $r=1, E_{n, \lambda}(x)=E_{n, \lambda}^{(1)}(x)$ are the degenerate Euler polynomials. The Type 2 degenerate Euler polynomials of order $r$ are defined by

$$
\begin{align*}
\left(\frac{2}{e_{\lambda}(t)+e_{\lambda}^{-1}(t)}\right)^{r} e_{\lambda}^{x}(t) & =\underbrace{\operatorname{sech}_{\lambda}(t) \times \cdots \operatorname{sech}_{\lambda}(t)}_{r-\text { times }} e_{\lambda}^{x}(t)  \tag{15}\\
& =\sum_{n=0}^{\infty} \mathcal{E}_{n, \lambda}^{(r)}(x) \frac{t^{n}}{n!}, \quad(r \in \mathbb{N})
\end{align*}
$$

where (see [3])

$$
\operatorname{sech}_{\lambda}(t)=\frac{2}{e_{\lambda}(t)+e_{\lambda}^{-1}(t)}=\frac{1}{\cosh _{\lambda}(t)}
$$

In [20], the Type 2 Changehee polynomials of order $r$ are defined by

$$
\begin{equation*}
\left(\frac{2}{(1+t)+(1+t)^{-1}}\right)^{r}(1+t)^{x}=\sum_{n=0}^{\infty} C_{n}^{(r)}(x) \frac{t^{n}}{n!} \tag{16}
\end{equation*}
$$

when $x=0, C_{n}^{(r)}=C_{n}^{(r)}(0)$ are called the Type 2 Changhee numbers of order $r$.

## 2. Type 2 Higher-Order Degenerate Euler and Type 2 High-Order Changhee Polynomials

From Equations (4) and (5), we note that

$$
\begin{align*}
(x)_{n, \lambda} & =\sum_{k=0}^{n} S_{2, \lambda}(n, k)(x)_{k}  \tag{17}\\
& =\sum_{k=0}^{n} S_{2, \lambda}(n, k) \sum_{l=0}^{k} S_{1, \lambda}(k, l)(x)_{l, \lambda} \\
& =\sum_{l=0}^{n}\left(\sum_{k=l}^{n} S_{2, \lambda}(n, k) S_{1, \lambda}(k, l)\right)(x)_{l, \lambda}
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of Equation (17), we obtain the following orthogonality relations where the second one follows analogously to Equation (17).

Lemma 1. For any integers $n, l$ with $n \geq l$, we have

$$
\sum_{k=l}^{n} S_{2, \lambda}(n, k) S_{1, \lambda}(k, l)=\left\{\begin{array}{cc}
1, & \text { if } l=n \\
0, & \text { otherwise }
\end{array}\right.
$$

and

$$
\sum_{k=l}^{n} S_{1, \lambda}(n, k) S_{2, \lambda}(k, l)=\left\{\begin{array}{lc}
1, & \text { if } l=n \\
0, & \text { otherwise }
\end{array}\right.
$$

For $n \geq 0$, let $f_{n, \lambda}=\sum_{k=0}^{n} g_{k, \lambda} S_{1, \lambda}(n, k)$. Then, we have

$$
\begin{align*}
\sum_{k=0}^{n} f_{k, \lambda} S_{2, \lambda}(n, k) & =\sum_{k=0}^{n} \sum_{l=0}^{k} g_{l, \lambda} S_{1, \lambda}(k, l) S_{2, \lambda}(n, k)  \tag{18}\\
& =\sum_{l=0}^{n} g_{l, \lambda}\left(\sum_{k=l}^{n} S_{2, \lambda}(n, k) S_{1, \lambda}(k, l)\right)=g_{n, \lambda}
\end{align*}
$$

Therefore, we obtain the following inversion theorem where the converse follows similarly to Equation (18).

Theorem 1. Let $n$ be a nonnegative integer. Then, we have

$$
f_{n, \lambda}=\sum_{k=0}^{n} g_{k, \lambda} S_{1, \lambda}(n, k) \Longleftrightarrow g_{n, \lambda}=\sum_{k=0}^{n} f_{k, \lambda} S_{2, \lambda}(n, k)
$$

In Equation (15), replacing $t$ by $\log _{\lambda}(1+t)$, we get

$$
\begin{align*}
\left(\frac{2}{(1+t)+(1+t)^{-1}}\right)^{r}(1+t)^{x} & =\sum_{k=0}^{\infty} \mathcal{E}_{k}^{(r)}(x) \frac{1}{k!}\left(\log _{\lambda}(1+t)\right)^{k}  \tag{19}\\
& =\sum_{k=0}^{\infty} \mathcal{E}_{k}^{(r)}(x) \sum_{n=k}^{\infty} S_{1, \lambda}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \mathcal{E}_{k}^{(r)}(x) S_{1, \lambda}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by Equations (16) and (19), we obtain the following theorem.
Theorem 2. For $n \geq 0$, we have

$$
C_{n}^{(r)}(x)=\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)}(x) S_{1, \lambda}(n, k), \quad(r \in \mathbb{N})
$$

In particular,

$$
C_{n}^{(r)}=\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)} S_{1, \lambda}(n, k), \quad(r \in \mathbb{N})
$$

By using Theorem 1, we obtain the following corollary from Theorem 2.
Corollary 1. For $n \geq 0$, we have

$$
\mathcal{E}_{n, \lambda}^{(r)}(x)=\sum_{k=0}^{n} C_{k}^{(r)}(x) S_{2, \lambda}(n, k), \quad(r \in \mathbb{N})
$$

In particular,

$$
\mathcal{E}_{n, \lambda}^{(r)}=\sum_{k=0}^{n} C_{k}^{(r)} S_{2, \lambda}(n, k), \quad(r \in \mathbb{N})
$$

Now, we observe that

$$
\begin{align*}
\sum_{n=0}^{\infty} \mathcal{E}_{n, \lambda}^{(r)}(x+2) \frac{t^{n}}{n!}+\sum_{n=0}^{\infty} \mathcal{E}_{n, \lambda}^{(r)}(x) \frac{t^{n}}{n!} & =\left(\frac{2}{e_{\lambda}(t)+e_{\lambda}^{-1}(t)}\right)^{r} e_{\lambda}^{x}(t)\left(e_{\lambda}^{2}(t)+1\right)  \tag{20}\\
& =\left(\frac{2}{e_{\lambda}(t)+e_{\lambda}^{-1}(t)}\right)^{r} e_{\lambda}^{x+1}(t)\left(e_{\lambda}(t)+e_{\lambda}^{-1}(t)\right) \\
& =2\left(\frac{2}{e_{\lambda}(t)+e_{\lambda}^{-1}(t)}\right)^{r-1} e_{\lambda}^{x+1}(t)=2 \sum_{n=0}^{\infty} \mathcal{E}_{n, \lambda}^{r-1}(x+1) \frac{t^{n}}{n!}
\end{align*}
$$

Thus, we have

$$
\begin{equation*}
\mathcal{E}_{n, \lambda}^{(r)}(x+2)+\mathcal{E}_{n, \lambda}^{(r)}(x)=2 \mathcal{E}_{n, \lambda}^{(r-1)}(x+1), \quad(n \geq 0, r \geq 2) \tag{21}
\end{equation*}
$$

From Equation (21), we note that

$$
\begin{align*}
\mathcal{E}_{n, \lambda}^{(r)}(x+2) & =-\mathcal{E}_{n, \lambda}^{(r)}(x)+2 \mathcal{E}_{n, \lambda}^{(r-1)}(x+1)  \tag{22}\\
& =-\mathcal{E}_{n, \lambda}^{(r)}(x)+2\left(-\mathcal{E}_{n, \lambda}^{(r-1)}(x-1)+2 \mathcal{E}_{n, \lambda}^{(r-2)}(x)\right) \\
& =-\mathcal{E}_{n, \lambda}^{(r)}(x)-2 \mathcal{E}_{n, \lambda}^{(r-1)}(x-1)+2^{2} \mathcal{E}_{n, \lambda}^{(r-2)}(x) \\
& =\cdots \\
& =-\sum_{l=0}^{r-1} 2^{l} \mathcal{E}_{n, \lambda}^{(r-l)}(x-l)+2^{r}(x-r+2)_{n, \lambda} .
\end{align*}
$$

Therefore, by Equation (22), we obtain the following theorem.
Theorem 3. For $n \geq 0, r \in \mathbb{N}$, we have

$$
\mathcal{E}_{n, \lambda}^{(r)}(x+2)+\sum_{l=0}^{r-1} 2^{l} \mathcal{E}_{n, \lambda}^{(r-l)}(x-l)=2^{r}(x-r+2)_{n, \lambda} .
$$

Replacing $t$ by $\log _{\lambda}\left(1+\log _{\lambda}(1+t)\right)$ in Equation (15), we get

$$
\begin{align*}
& \left(\frac{2}{\left(1+\log _{\lambda}(1+t)\right)+\left(1+\log _{\lambda}(1+t)\right)^{-1}}\right)^{r}\left(1+\log _{\lambda}(1+t)\right)^{x}  \tag{23}\\
& =\sum_{k=0}^{\infty} \mathcal{E}_{k, \lambda}^{(r)}(x) \frac{1}{k!}\left(\log _{\lambda}\left(1+\log _{\lambda}(1+t)\right)\right)^{k} \\
& =\sum_{k=0}^{\infty} \mathcal{E}_{k, \lambda}^{(r)}(x) \sum_{n=k}^{\infty} S_{J, \lambda}^{(1)}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \mathcal{E}_{n, \lambda}^{(r)}(x) S_{J, \lambda}^{(1)}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

On the other hand, by Equation (16), we get

$$
\begin{align*}
& \left(\frac{2}{\left(1+\log _{\lambda}(1+t)\right)+\left(1+\log _{\lambda}(1+t)\right)^{-1}}\right)^{r}\left(1+\log _{\lambda}(1+t)\right)^{x}  \tag{24}\\
& =\sum_{k=0}^{\infty} C_{k}^{(r)}(x) \frac{1}{k!}\left(\log _{\lambda}(1+t)\right)^{k} \\
& =\sum_{k=0}^{\infty} C_{k}^{(r)}(x) \sum_{n=k}^{\infty} S_{1, \lambda}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} C_{k}^{(r)}(x) S_{1, \lambda}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by Equations (23) and (24), we obtain the following theorem.
Theorem 4. For $n \geq 0$, we have

$$
\sum_{k=0}^{n} C_{k}^{(r)}(x) S_{1, \lambda}(n, k)=\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)}(x) S_{J, \lambda}^{(1)}(n, k)
$$

In particular,

$$
\sum_{k=0}^{n} C_{k}^{(r)} S_{1, \lambda}(n, k)=\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)} S_{J, \lambda}^{(1)}(n, k)
$$

From Theorem 1, we obtain the following corollary.
Corollary 2. For $n \geq 0$, we have

$$
C_{n}^{(r)}(x)=\sum_{k=0}^{n} \sum_{l=0}^{k} \mathcal{E}_{l, \lambda}^{(r)}(x) S_{J, \lambda}^{(1)}(k, l) S_{2, \lambda}(n, k)
$$

In Equation (16), replacing $t$ by $e_{\lambda}\left(e_{\lambda}(t)-1\right)-1$, we get

$$
\begin{align*}
& \left(\frac{2}{e_{\lambda}\left(e_{\lambda}(t)-1\right)+e_{\lambda}^{-1}\left(e_{\lambda}(t)-1\right)}\right)^{r} e_{\lambda}^{x}\left(e_{\lambda}(t)-1\right)  \tag{25}\\
& =\sum_{k=0}^{\infty} C_{k}^{(r)}(x) \frac{1}{k!}\left(e_{\lambda}\left(e_{\lambda}(t)-1\right)-1\right)^{k} \\
& =\sum_{k=0}^{\infty} C_{k}^{(r)}(x) \sum_{n=k}^{\infty} S_{J, \lambda}^{(2)}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} C_{k}^{(r)}(x) S_{J, \lambda}^{(2)}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

On the other hand,

$$
\begin{align*}
& \left(\frac{2}{e_{\lambda}\left(e_{\lambda}(t)-1\right)+e_{\lambda}^{-1}\left(e_{\lambda}(t)-1\right)}\right)^{r} e_{\lambda}^{x}\left(e_{\lambda}(t)-1\right)  \tag{26}\\
& =\sum_{k=0}^{\infty} \mathcal{E}_{k, \lambda}^{(r)}(x) \frac{1}{k!}\left(e_{\lambda}(t)-1\right)^{k} \\
& =\sum_{k=0}^{\infty} \mathcal{E}_{k, \lambda}^{(r)}(x) \sum_{n=k}^{\infty} S_{2, \lambda}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)}(x) S_{2, \lambda}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by Equations (25) and (26), we obtain the following theorem.
Theorem 5. For $n \geq 0$, we have

$$
\sum_{k=0}^{n} S_{J, \lambda}^{(2)}(n, k) C_{k}^{(r)}(x)=\sum_{k=0}^{n} \mathcal{E}_{k, \lambda}^{(r)}(x) S_{2, \lambda}(n, k)
$$

From Theorem 1, we have the following corollary.
Corollary 3. For $n \geq 0$, we have

$$
\mathcal{E}_{n, \lambda}^{(r)}(x)=\sum_{k=0}^{n} \sum_{l=0}^{k} S_{1, \lambda}(n, k) S_{J, \lambda}^{(2)}(k, l) C_{l}^{(r)}(x)
$$

From Equation (9), we note that

$$
\begin{align*}
& \left(\frac{2}{e_{\lambda}\left(e_{\lambda}(t)-1\right)+e_{\lambda}^{-1}\left(e_{\lambda}(t)-1\right)}\right)^{r} e_{\lambda}^{x}\left(e_{\lambda}(t)-1\right)  \tag{27}\\
& =\sum_{l=0}^{\infty} \mathcal{E}_{l, \lambda}^{(r)} \frac{1}{l!}\left(e_{\lambda}(t)-1\right)^{l} \sum_{m=0}^{\infty} B_{m, \lambda}(x) \frac{t^{m}}{m!} \\
& =\sum_{k=0}^{\infty} \sum_{l=0}^{k} \mathcal{E}_{l, \lambda}^{(r)} S_{2, \lambda}(k, l) \frac{t^{k}}{k!} \sum_{m=0}^{\infty} B_{m, \lambda}(x) \frac{t^{m}}{m!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \sum_{l=0}^{k} \mathcal{E}_{l, \lambda}^{(r)} S_{2, \lambda}(k, l) B_{n-k, \lambda}(x)\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Therefore, by Equations (25) and (27), we obtain the following theorem.
Theorem 6. For $n \geq 0$, we have

$$
\sum_{k=0}^{n} S_{J, \lambda}^{(2)}(n, k) C_{k}^{(r)}(x)=\sum_{k=0}^{n}\binom{n}{k} \sum_{l=0}^{k} \mathcal{E}_{l, \lambda}^{(r)} S_{2, \lambda}(k, l) B_{n-k, \lambda}(x)
$$

## 3. Discrete Harmonic Numbers and Related Polynomials and Numbers

From Equation (6), we note that

$$
\begin{equation*}
\lim _{\lambda \rightarrow 0} \log _{\lambda}(1+t)=\sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n} t^{n}=\log (1+t) \tag{28}
\end{equation*}
$$

In view of Equations (8) and (28), we may consider the degenerate harmonic numbers given by

$$
\begin{equation*}
-\frac{\log _{\lambda}(1-t)}{1-t}=\sum_{n=1}^{\infty} H_{n, \lambda} t^{n} \tag{29}
\end{equation*}
$$

Note that

$$
\lim _{\lambda \rightarrow 0} H_{n, \lambda}=H_{n}=1+\frac{1}{2}+\cdots+\frac{1}{n}, \quad(n \in \mathbb{N})
$$

From Equations (6) and (29), we note that

$$
\begin{align*}
\frac{-\log _{\lambda}(1-t)}{1-t} & =\sum_{m=0}^{\infty} t^{m} \sum_{k=1}^{\infty}(-\lambda)^{k-1}(1)_{k, 1 / \lambda} \frac{t^{k}}{k!}  \tag{30}\\
& =\sum_{n=1}^{\infty}\left(\sum_{k=1}^{n} \frac{(-\lambda)^{k-1}(1)_{k, 1 / \lambda}}{k!}\right) t^{n}
\end{align*}
$$

Thus, by Equations (29) and (30), we get

$$
H_{n, \lambda}=\sum_{k=1}^{n} \frac{(-\lambda)^{k-1}(1)_{k, 1 / \lambda}}{k!}=\sum_{k=1}^{n} \frac{(1-\lambda)(2-\lambda) \cdots(k-1-\lambda)}{k!}, \quad(n \in \mathbb{N})
$$

Indeed,

$$
\lim _{\lambda \rightarrow 0} H_{n, \lambda}=1+\frac{1}{2}+\frac{1}{3}+\cdots+\frac{1}{n}=H_{n}
$$

For $r \in \mathbb{N}$, the degenerate harmonic polynomials $H_{n, \lambda}^{(r)}(x)$ of order $r$ are defined by

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n, \lambda}^{(r)}(x) t^{n}=\frac{\left(-\log _{\lambda}(1-t)\right)^{r+1}}{t(1-t)}(1-t)^{x} \tag{31}
\end{equation*}
$$

when $x=0, H_{n, \lambda}^{(r)}=H_{n, \lambda}^{(r)}(0)$ are called the degenerate harmonic numbers of order $r$.
From Equation (31), we note that

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{n, \lambda}^{(0)} t^{n}=\frac{-\log _{\lambda}(1-t)}{t(1-t)}=\frac{1}{t} \sum_{n=1}^{\infty} H_{n, \lambda} t^{n}=\sum_{n=0}^{\infty} H_{n+1, \lambda} t^{n} \tag{32}
\end{equation*}
$$

Comparing the coefficients on both sides of Equation (32), we obtain

$$
\begin{equation*}
H_{n, \lambda}^{(0)}=H_{n+1, \lambda,} \quad(n \geq 0) \tag{33}
\end{equation*}
$$

From Equations (31) and (33), we have

$$
\begin{align*}
\sum_{n=0}^{\infty} H_{n, \lambda}^{(0)}(x) t^{n} & =\frac{-\log _{\lambda}(1-t)}{t(1-t)}(1-t)^{x}  \tag{34}\\
& =\sum_{m=0}^{\infty} H_{m+1, \lambda} t^{m} \sum_{l=0}^{\infty}\binom{x}{l}(-1)^{l} x^{l} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} H_{m+1, \lambda}\binom{x}{n-m}(-1)^{n-m}\right) t^{n}
\end{align*}
$$

By Equation (34), we get

$$
H_{n, \lambda}^{(0)}(x)=\sum_{m=0}^{n} H_{m+1, \lambda}\binom{x}{n-m}(-1)^{n-m}, \quad(n \geq 0)
$$

Now, we observe that

$$
\begin{align*}
& \frac{\left(-\log _{\lambda}(1-t)\right)^{r+1}}{t(1-t)}=\frac{1}{t(1-t)}\left(\sum_{l=1}^{\infty} \frac{(-\lambda)^{l-1}}{l!}(1)_{l, 1 / \lambda} t^{l}\right)^{r+1}  \tag{35}\\
&=\left(\frac{1}{t}+\frac{1}{1-t}\right) \sum_{l=r+1}^{\infty} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}}{l_{1}!l_{2}!\cdots l_{r+1}!}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda} t^{l} \\
&= \sum_{n=r}^{\infty} \sum_{l_{1}+\cdots+l_{r+1}=n+1} \frac{(-\lambda)^{n-r}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{n} \\
&+\sum_{n=r+1}^{\infty} \sum_{l=r+1}^{n} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{n} \\
&= \sum_{l_{1}+\cdots+l_{r+1}=r+1} \frac{(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{r} \\
&+\sum_{n=r+1}^{\infty} \sum_{l_{1}+\cdots+l_{r+1}=n+1} \frac{(-\lambda)^{n-r}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{n} \\
&+\sum_{n=r+1}^{\infty} \sum_{l=r+1}^{n} \\
&= \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{n} \\
&+\sum_{n=r+1}^{\infty} \frac{(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t_{l=r+1}^{n+1} \\
&= \sum_{n=r}^{\infty}\left(\sum_{l=r+1}^{n+1} \sum_{l_{1}+\cdots+l_{r+1}=l}^{n} \frac{(-\lambda)^{l-r-1}}{l_{1}!l_{2}!\cdots l_{r+1}!}(1)_{l_{1}, 1 / \lambda}(1)_{l_{2}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}\right) t^{n} \\
&\left.\frac{(-\lambda)^{l-r-1}}{l_{1}!l_{2}!\cdots l_{r+1}!}(1)_{l_{1}, 1 / \lambda}(1)_{l_{2}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}\right) t^{n} .
\end{align*}
$$

Therefore, by Equations (31) and (35), we obtain the following equation.

$$
H_{n, \lambda}^{(r)}=\left\{\begin{array}{cl}
\sum_{l=r+1}^{n+1} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}}{l_{1}!l_{2}!\cdots l_{r+1}!}(1)_{l_{1}, 1 / \lambda}(1)_{l_{2}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}, & \text { if } n \geq r  \tag{36}\\
0, & \text { otherwise }
\end{array}\right.
$$

By Equations (31) and (35), we get

$$
\begin{align*}
\sum_{n=0}^{\infty} H_{n, \lambda}^{(r)}(x) t^{n} & =\frac{\left(-\log _{\lambda}(1-t)\right)^{r+1}}{t(1-t)}(1-t)^{x}  \tag{37}\\
& =\sum_{k=r}^{\infty}\left(\sum_{l=r+1}^{k+1} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!}\right) t^{k} \sum_{m=0}^{\infty}\binom{x}{m}(-1)^{m} t^{m} \\
& =\sum_{n=r}^{\infty}\left(\sum_{k=r}^{n}\binom{x}{n-k}(-1)^{n-k} \sum_{l=r+1 l_{1}+\cdots+l_{r+1}=l}^{k+1} \frac{(-\lambda)^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!}\right) t^{n} .
\end{align*}
$$

By comparing the coefficients on both sides of Equation (37), we get

$$
H_{n, \lambda}^{(r)}(x)=\left\{\begin{array}{cl}
\sum_{k=r}^{n}\binom{x}{n-k}(-1)^{n-k} \sum_{l=r+1}^{k+1} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{(-\lambda)^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!}, & \text { if } n \geq r,  \tag{38}\\
0, & \text { otherwise. }
\end{array}\right.
$$

Let us consider the generalized degenerate harmonic numbers which are given by

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{\lambda}(n+r+1, r) t^{n}=\frac{\left(-\log _{\lambda}(1-t)\right)^{r+1}}{t^{r+1}(1-t)} \tag{39}
\end{equation*}
$$

Replacing $t$ by $-t$, we get

$$
\begin{equation*}
\sum_{n=0}^{\infty} H_{\lambda}(n+r+1, r)(-t)^{n}=\frac{\left(\log _{\lambda}(1+t)\right)^{r+1}}{t^{r+1}(1+t)} \tag{40}
\end{equation*}
$$

From Equation (6), we note that

$$
\begin{align*}
\left(\log _{\lambda}(1+t)\right)^{r+1} & =\left(\sum_{l=1}^{\infty} \lambda^{l-1}(1)_{l, 1 / \lambda} \frac{t^{l}}{l!}\right)^{r+1}  \tag{41}\\
& =\sum_{l=r+1}^{\infty}\left(\sum_{l_{1}+\cdots+l_{r+1}=l} \frac{\lambda^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!l_{2}!\cdots l_{r+1}!}\right) t^{l} .
\end{align*}
$$

By Equation (41), we get

$$
\begin{align*}
\frac{\left(\log _{\lambda}(1+t)\right)^{r+1}}{t^{r+1}(1+t)} & =\frac{1}{t^{r+1}} \sum_{l=r+1}^{\infty} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{\lambda^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{l} \sum_{m=0}^{\infty}(-1)^{m} t^{m}  \tag{42}\\
& =\frac{1}{t^{r+1}} \sum_{n=r+1}^{\infty} \sum_{l=r+1}^{n}(-1)^{n-l} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{\lambda^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} t^{n} \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=r+1}^{n+r+1}(-1)^{n+r+1-l \sum_{l_{1}+\cdots+l_{r+1}=l}} \frac{\lambda^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!}\right) t^{n} .
\end{align*}
$$

Therefore, by Equations (40) and (42), we get

$$
\begin{equation*}
H_{\lambda}(n+r+1, r)=\sum_{l=r+1}^{n+r+1}(-1)^{r+1-l} \sum_{l_{1}+\cdots+l_{r+1}=l} \frac{\lambda^{l-r-1}(1)_{l_{1}, 1 / \lambda} \cdots(1)_{l_{r+1}, 1 / \lambda}}{l_{1}!\cdots l_{r+1}!} . \tag{43}
\end{equation*}
$$

Let $r$ be a positive integer. We observe that

$$
\begin{align*}
& \frac{\left(\log _{\lambda}(1+t)\right)^{r+1}}{t^{r+1}(1+t)}\left(\frac{2}{(1+t)+(1+t)^{-1}}\right)^{r}(1+t)^{x}  \tag{44}\\
& \quad=\left(\frac{2}{(1+t)+(1+t)^{-1}}\right)^{r}(1+t)^{x-1} \frac{1}{t^{r+1}}\left(\log _{\lambda}(1+t)\right)^{r+1} \\
& \quad=\sum_{l=0}^{\infty} C_{l}^{(r)}(x-1) \frac{t^{l}}{l!} \sum_{k=0}^{\infty} S_{1, \lambda}(k+r+1, r+1) \frac{k!(r+1)!}{(k+r+1)!} \frac{t^{k}}{k!} \\
& \quad=\sum_{l=0}^{\infty} C_{l}^{(r)}(x-1) \frac{t^{l}}{l!} \sum_{k=0}^{\infty} \frac{S_{1, \lambda}(k+r+1, r+1)}{\binom{k+r+1}{k}} \frac{t^{k}}{k!} \\
& \quad=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \frac{\binom{n}{k} S_{1, \lambda}(k+r+1, r+1)}{\binom{k+r+1}{k}} C_{n-k}^{(r)}(x-1)\right) \frac{t^{n}}{n!} .
\end{align*}
$$

On the other hand,

$$
\begin{align*}
& \frac{\left(\log _{\lambda}(1+t)\right)^{r+1}}{t^{r+1}(1+t)}\left(\frac{2}{(1+t)+(1+t)^{-1}}\right)^{r}(1+t)^{x}  \tag{45}\\
& \quad=\sum_{l=0}^{\infty} H_{\lambda}(l+r+1)(-t)^{l} \sum_{m=0}^{\infty} C_{m}^{(r)}(x) \frac{t^{m}}{m!} \\
& \quad=\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n}\binom{n}{l} l!H_{\lambda}(l+r+1, r)(-1)^{l} C_{n-l}^{(r)}(x)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by Equations (44) and (45), we obtain the following equation.

$$
\begin{equation*}
\sum_{k=0}^{n} \frac{\binom{n}{k} S_{1, \lambda}(k+r+1, r+1)}{\binom{k+r+1}{k}} C_{n-k}^{(r)}(x-1)=\sum_{l=0}^{n}\binom{n}{l} l!H_{\lambda}(l+r+1, r)(-1)^{l} C_{n-l}^{(r)}(x) . \tag{46}
\end{equation*}
$$

Finally, we would like to mention that the generating function method used in harmonic polynomials has also been applied in other fields of discrete applied mathematics such as network theory (see [26,27]).

## 4. Further Remark

Before we conclude our paper in the following section, we would like to mention three possible applications of our results to other areas.

The first possibility is their applications to differential equations. In [18], certain infinite families of nonlinear differential equations, satisfied by the generating functions of some degenerate polynomials, are derived to find new combinatorial identities for those polynomials.

For example, it is shown that, for any positive integer $N$, the following nonlinear differential equation with respect to $t$ is satisfied by $F=F(t)=\frac{1}{\log (1+t)}$ :

$$
\begin{equation*}
F^{(N)}(t)=\frac{(-1)^{N}}{(1+t)^{N}} \sum_{j=2}^{N+1}(j-1)!(N-1)!H_{N-1, j-2} F^{j}, \tag{47}
\end{equation*}
$$

where

$$
\begin{aligned}
& H_{N, 0}=1, \quad \text { for all } N \\
& H_{N, 1}=H_{N}=1+\frac{1}{2}+\cdots+\frac{1}{N^{\prime}} \\
& H_{N, j}=\frac{H_{N-1, j-1}}{N}+\frac{H_{N-2, j-1}}{N-1}+\cdots+\frac{H_{0, j-1}}{1}, \quad H_{0, j-1}=0 \quad(2 \leq j \leq N) .
\end{aligned}
$$

Then, from Equation (47), it is possible to derive the next combinatorial identity:
For $n \geq 0$, we have

$$
\begin{align*}
& (-1)^{N} \sum_{j=0}^{\min \{n, N-1\}}(N-j)!(N-1)!H_{N-1, N-1-j}(n)_{j} b_{n-j}^{(N+1-j)}  \tag{48}\\
= & \begin{cases}(-1)^{N} N!(N)_{n}, & \text { if } 0 \leq n \leq N, \\
\sum_{l=0}^{n-N-1}\binom{N}{l} \frac{b_{n-l}}{n-l}(n)_{l+N+1}, & \text { if } n \geq N+1 .\end{cases}
\end{align*}
$$

Here, $b_{n}^{(k)}$ are the Bernoulli numbers of the second kind of order $k$ defined by

$$
\left(\frac{t}{\log (1+t)}\right)^{k}=\sum_{n=0}^{\infty} b_{n}^{(k)} \frac{t^{n}}{n!}
$$

In particular, for $k=1, b_{n}=b_{n}^{(1)}$ are the Bernoulli numbers of the second kind.
The second possibility is their applications to probability theory. For instance, in [9] (see also, [11]), by using the generating functions of the moments of certain random variables, new identities connecting some special numbers and moments of random variables are deduced.

To state this, we first recall the following definitions. A random variable $X$ is said to be the Poisson random variable with parameter $\alpha>0$, if the probability mass function of $X$ is given by

$$
p(i)=P\{X=i\}=e^{-\alpha} \frac{\alpha^{i}}{i!}, \quad i=0,1,2, \cdots
$$

In addition, for $\lambda \in \mathbb{R}, X_{\lambda}$ is the degenerate Poisson random variable with parameter $\alpha>0$, if the probability mass function of $X_{\lambda}$ is given by

$$
P_{\lambda}(i)=P\left\{X_{\lambda}=i\right\}=e_{\lambda}^{-1}(\alpha) \frac{\alpha^{i}(1)_{i, \lambda}}{i!}, \quad i=0,1,2, \cdots
$$

Furthermore, the degenerate Bell polynomials and the new type degenerate Bell polynomials are, respectively, defined by

$$
e^{x\left(e_{\lambda}(t)-1\right)}=\sum_{n=0}^{\infty} B e l_{n, \lambda}(x) \frac{t^{n}}{n!}, \quad e_{\lambda}^{-1}(x) e_{\lambda}\left(x e^{t}\right)=\sum_{n=0}^{\infty} \beta_{n, \lambda}(x) \frac{t^{n}}{n!}
$$

Then, it was shown that

$$
\begin{equation*}
E\left[X_{\lambda}^{n}\right]=\beta_{n, \lambda}(\alpha), \quad E\left[(X)_{n, \lambda}\right]=\operatorname{Bel}_{n, \lambda}(\alpha), \quad(n \geq 1) \tag{49}
\end{equation*}
$$

where $X_{\lambda}$ and $X$ are, respectively, the degenerate Poisson random variable with parameter $\alpha>0$, and the Poisson random variable with parameter $\alpha>0$.

The third possibility is their applications to identities of symmetry. For example, in [7] (see also [28]), abundant identities of symmetry are obtained for various degenerate versions of many special polynomials by using $p$-adic fermionic integrals.

Let $\tau_{k}(\lambda, n)$ be the alternating generalized falling factorial sum given by

$$
\tau_{k}(\lambda, n)=\sum_{i=0}^{n}(-1)^{i}(i)_{k, \lambda}, \quad(n \geq 0)
$$

Then, for any odd positive integers $w_{1}, w_{2}$, we have:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} E_{k, \frac{\lambda}{w_{2}}}\left(w_{1} y_{1}\right) \tau_{n-k}\left(\frac{\lambda}{w_{1}}, w_{2}-1\right) w_{1}^{n-k} w_{2}^{k} \\
= & \sum_{k=0}^{n}\binom{n}{k} E_{k, \frac{\lambda}{w_{1}}}\left(w_{2} y_{1}\right) \tau_{n-k}\left(\frac{\lambda}{w_{2}}, w_{1}-1\right) w_{2}^{n-k} w_{1}^{k} \\
= & w_{1}^{n} \sum_{i=0}^{w_{1}-1}(-1)^{i} E_{n, \frac{\lambda}{w_{1}}}\left(w_{2} y_{1}+\frac{w_{2}}{w_{1}} i\right) \\
= & w_{2}^{n} \sum_{i=0}^{w_{2}-1}(-1)^{i} E_{n, \frac{\lambda}{, ~}}^{w_{2}}\left(w_{1} y_{1}+\frac{w_{1}}{w_{2}} i\right)  \tag{50}\\
= & \sum_{k+l+m=n}\binom{n}{k, l, m} E_{k, \frac{\lambda}{w_{1} w_{2}}}\left(y_{1}\right) \tau_{l}\left(\frac{\lambda}{w_{2}}, w_{1}-1\right) \tau_{m}\left(\frac{\lambda}{w_{1}}, w_{2}-1\right) w_{1}^{k+m} w_{2}^{k+l} \\
= & w_{1}^{n} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{w_{1}-1}(-1)^{i} E_{k, \frac{\lambda}{w_{1} w_{2}}}\left(y_{1}+\frac{i}{w_{1}}\right) \tau_{n-k}\left(\frac{\lambda}{w_{1}}, w_{2}-1\right) w_{2}^{k} \\
= & w_{2}^{n} \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{w_{2}-1}(-1)^{i} E_{k, \frac{\lambda}{}}\left(y_{1}+\frac{i}{w_{1} w_{2}}\right) \tau_{n-k}\left(\frac{\lambda}{w_{2}}, w_{1}-1\right) w_{1}^{k} \\
= & \left(w_{1} w_{2}\right)^{n} \sum_{i=0}^{w_{1}-1} \sum_{j=0}^{w_{2}-1}(-1)^{i+j} E_{n, \frac{\lambda}{w_{1} w_{2}}}\left(y_{1}+\frac{i}{w_{1}}+\frac{j}{w_{2}}\right) .
\end{align*}
$$

## 5. Conclusions

In Section 2, the orthogonality relations are shown for the degenerate Stirling numbers from which the inversion theorem was derived. Then, in connection with the degenerate Stirling numbers of both kinds and the Jindalrae-Stirling numbers of both kinds, several relations are proved between the Type 2 degenerate Euler polynomials of order $r$ and the Type 2 Changhee polynomials of order $r$. In addition, a recurrence relation is deduced for the Type 2 higher-order degenerate Euler polynomials. In Section 3, the discrete harmonic numbers are introduced as a degenerate version of the usual harmonic numbers. Then, as a natural generalization of these numbers, the higher-order degenerate harmonic polynomials are considered and an explicit expression for them is obtained. Finally, the generalized degenerate harmonic numbers are constructed so that an identity involving these numbers, the Type 2 higher-order Changhee polynomials, and the degenerate Stirling numbers of the first kind is derived.

In Section 4, we mentioned three possibilities for applications of our results to other areas. The first one is their applications to differential equations, the second one is their applications to probability theory, and the third one is their applications to identities of symmetry. For each possibility, we provide a typical example (see Equations (47)-(50)).

It is one of our future projects to continue to study various degenerate versions of some special polynomials and numbers, and to find some of their possible applications to mathematics, science, and engineering.

Author Contributions: All authors contributed equally to this work. All authors have read and agreed to the published version of the manuscript.
Funding: This research received no external funding.
Acknowledgments: The authors would like to thank the referees for their detailed and valuable suggestions that helped improve the original manuscript in its present form.
Conflicts of Interest: The authors declare that they have no competing interests.

## References

1. Carlitz, L. Degenerate Stirling, Bernoulli and Eulerian numbers. Utilitas Math. 1979 15, 51-88.
2. Chung, S.-K.; Jang, G.-W.; Kim, D.S.; Kwon, J. Some identities of the Type 2 degenerate Bernoulli and Euler numbers. Adv. Stud. Contemp. Math. (Kyungshang) 2019, 29, 613-632.
3. Jang, G.-W.; Kim, T. A note on Type 2 degenerate Euler and Bernoulli polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 2019, 29, 147-159.
4. Jeong, J.; Rim, S.-H.; Kim, B.M. On finite-times degenerate Cauchy numbers and polynomial. Adv. Differ. Equ. 2015, 321, 12. [CrossRef]
5. Jeong, W.K. Some identities for degenerate cosine(sine)-Euler polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 2020, 30, 155-164.
6. Khan, W.A. A new class of degenerate Frobenius-Euler-Hermite polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 2018, 28, 567-576.
7. Kim, T.; Kim, D.S. Identities of symmetry for degenerate Euler polynomials and alternating generalized falling factorial sums. Iran. J. Sci. Technol. Trans. A Sci. 2017, 41, 939-949. [CrossRef]
8. Kim, T. A note on degenerate Stirling polynomials of the second kind. Proc. Jangjeon Math. Soc. 2017, 20,319-331.
9. Kim, T.; Kim, D.S.; Jang, L.-C.; Kim, H.Y. A note on discrete degenerate random variables. Proc. Jangjeon Math. Soc. 2020, 23, 125-135.
10. Kim, T.; Kim, D.S.; Kim, H.Y.; Kwon, J. Some identities of degenerate Bell polynomials. Mathematics 2020, 8, 40. [CrossRef]
11. Kim, T.; Kim, D.S.; Kim, H.Y.; Kwon, J. Degenerate Stirling polynomials of the second kind and some applications. Symmetry 2019, 11, 1046. [CrossRef]
12. Kim, T.; Kim, D.S.; Lee, H.; Kwon, J. Degenerate binomial coefficients and degenerate hypergeometric functions. Adv. Differ. Equ. 2020, 115, 17. [CrossRef]
13. Kim, T.; Jang, L.-C.; Kim, D.S.; Kim, H.Y. Some identities on Type 2 degenerate Bernoulli polynomials of the second kind. Symmetry 2020, 12, 510. [CrossRef]
14. Kim, D.S.; Kim, T. A note on a new type of degenerate Bernoulli numbers. Russ. Math. Phys. 2020, 27, 227-235. [CrossRef]
15. Kim, D.S.; Kim, T.; Ryoo, C.S. Generalized type 2 degenerate Euler numbers. Adv. Stud. Contemp. Math. (Kyungshang) 2020, 30, 165-179.
16. Ma, M.; Lim, D. Some identities on the fully degenerate Bell polynomials of the second kind. Adv. Stud. Contemp. Math. (Kyungshang) 2020, 30, 145-154.
17. Kim, D.S.; Kim, T. Identities involving harmonic and hyperharmonic numbers. Adv. Differ. Equ. 2013, 235, 15. [CrossRef]
18. Kim, D.S.; Kim, T. Some identities for Bernoulli numbers of the second kind arising from a non-linear differential equation. Bull. Korean Math. Soc. 2015, 52, 2001-2010. [CrossRef]
19. Kim, D.S.; Kim, T.; Lee, S.-H. Combinatorial identities involving harmonic and hyperharmonic numbers. Adv. Stud. Contemp. Math. (Kyungshang) 2013, 23, 393-413.
20. Kim, T.; Kim, D.S. A note on Type 2 Changhee and Daehee polynomials. Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 2019, 113, 2783-2791. [CrossRef]
21. Kim, T.; Kim, D.S.; Jang, L.-C.; Lee, H. Jindalrae and Gaenari numbers and polynomials. Adv. Difference Equ. arXiv 2020, arXiv:2004.03920.
22. Kruchinin, D.V.; Kruchinin, V.V. Explicit formula for reciprocal generating function and its application. Adv. Stud. Contemp. Math. (Kyungshang) 2019, 29, 365-372.
23. Liang, H.-Y.; Wuyungaowa. Some results on the generalized harmonic numbers. Gongcheng Shuxue Xuebao 2014, 31, 152-158.
24. Roman, S. The Umbral Calculus; Pure and Applied Mathematics 111; Academic Press Inc.: Cambridge, MA, USA; Harcourt Brace Jovanovich, Publishers: New York, NY, USA, 1984.
25. Wuyungaowa. Riordan arrays and hyperharmonic numbers. Ars Combin. 2017, 132, 81-91.
26. Shang, Y. Impact of self-healing capability on network robustness. Phys. Rev. E Stat. Nonlin Soft. Matter. Phys. 2015, 4, 042804. [CrossRef] [PubMed]
27. Shang, Y. Unveiling robustness and heterogeneity through percolation triggered by random-link breakdown. Phys. Rev. E Stat. Nonlin Soft. Matter. Phys. 2014, 90, 032820. [CrossRef]
28. Shang, Y. A class of combinatorial functions for Eulerian numbers. Matematika 2012, 28, 151-154.
© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http:/ /creativecommons.org/licenses/by/4.0/).
